


































Solutions to PracticeProblems 2
Sec2.3
5 Since thetwofunctions fail Ez7xt 4 371 43

X s
and gtx x 4 have the same value everywhere
except at x 3 where f is undefined and q is
defined they havethe same limit as x 3 The
graphof g is a straight line andthegraphof f is
almostthe same fine but mussing thepoint 13 i on

the other hand themissing point doesnotaffect the
trait of either f or g at any point

So
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Sec2.4
8 lasting glad a b lying glad a c figgindoes

notexist
d figggun a e hiyaGk o f lyinggas n

15 Thedenominator offkn varnishes at x c91,23and so f is
undefined atthosepoints Since Yingfix fig z o

there is meretical asymptote at 1 However since

him D big a andxlimz.fi l xligz.YIz a

the line x 2 is a verticalasymptote

Ii I
30 a This limit is undefined since thedenominator
isundefined far tax et Theexpression
inside the square root is negative
b lion x Thedenominator

x a ly n x 4
is positive approaching zero from above
the numerator is negative approaching 2

1cL The two sided limit is undefined since
a is undefined
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N since the numerator is



positive and 3 I F the denominator is also
positiveand approaching zero

48 Thedenominatorvanishes at XE f 2 o
Sincejingofan bingo 7 o andhjgo.fixthjno.IE

theyaxis x o is a radicalasymptote

SinceLing text D andtiaf.z.fm no the line x 2 is

also a vertical asymptote Notethat4 5 9,47 where

the morator takes positivevalues at both e fo 23


